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ERENE (FRT

15 E)

g2k ZXRBIEYOAEERRVIE
= %

= (13 =z E —B{EEF
1SMED| BFH{E BFH{EA. 06ppm |1H#Fa‘1ﬁ"i'® NO?2
B 2 B EFYE EE ﬁr’aﬁga%ﬁliﬂitaﬁaﬂﬂﬁéﬁmﬁfﬁ BEE INO+NO2
(98 % BEETMEMEIS £ 5 (EFHE)
ppm ppm ppm =] % ppm ppm %
3k | 0.020 0.091 0.044 0 100.0 0.011 0.287 63.7
h 20| 0.024 0.092 0.046 0 100. 0 0.015 0.261 61.6
B & @& | 0.029 0.099 0.052 0 100.0 0.019 0.309 60.6
B #l 0.024 0.089 0.045 0 100.0 0.013 0.309 64.9
i a8 0.024 0.096 0.048 0 100. 0 0.014 0.290 62.3
4 T % 0.020 0.087 0.042 0 100.0 0.010 0.316 65.4
o #® ARl 0.027 0.086 0.050 0 100.0 0.016 0.250 63.2
B E ¥ 7#fl 0.032 0.103 0.052 0 100.0 0.022 0.253 59.3
BE WME XS EfE 0024 0.093 0.046 0 100.0 0.018 0.242 56.7
BB b2 & 0017 0.074 0.037 0 100.0 0.008 0.178 67.5
@ o % &l 0.016 0.084 0.035 0 100. 0 0.011 0.449 59.6
B F [ 0024 0.095 0.047 0 100. 0 0.014 0.247 63.5
= E filmasenes 0014 0.086 0.033 0 100.0 0.005 0142 ' 733
# f Wm % Fr| 0.022 0.084 0.043 0 100.0 0.014 0.230 60.7
¥ B hlzima+r 49— 0.020 0.081 0.041 0 100.0 0.013 0.256 61.7
N #& wmim . & | 0.017 0.081 0.036 0 100.0 0.008 0.141 66.3
= HE wld &  Frl 0013 0.059 0.026 0 100.0 0.008 0.169 61.7
iz 5T| 0.025 0.100 0.051 0 100. 0 0.016 0.324 61.0
H #| 0.023 0.093 0.046 0 100.0 0.013 0.258 64.4
# 0.021 0.099 0.041 0 100. 0 0.010 0.221 67.1
E3 & 0.017 0.077 0.035 0 100.0 0.007 0.288 726
£ E B & 0.027 0.090 0.051 0 100.0 0.012 0.205 68.9
#F HE M| 0.025 0.087 0.046 0 100.0 0.013 0.182 64.9
& E| 0.029 0.087 0.052 0 100.0 0.023 0.332 54.9
B 1 &| 0.016 0.070 0.034 0 100.0 0.007 0.133 70.1
E k| 0.027 0.099 0.050 0 100. 0 0.019 0.261 58.6
il | 0.016 0.071 0.032 0 100.0 0.009 0.182 66.1
WO & 0013 0.065 0.032 0 100.0 0.004 0.096 77.8
ik 0.014 0.081 0.027 0 100. 0 0.005 0.108 754
ik A 0.014 0.073 0.030 0 100.0 0.013 0.426 526
B & fE F|{ 0.023 0.090 0.044 0 100.0 0.015 0.227 59.9
= 2] 0.019 0.078 0.036 0 100. 0 0.009 0.197 69.1
X X & 0021 0.070 0.039 0 100.0 0.015 0.180 574
TR X drfer & 1Bl 0.015 0.064 0.033 0 100.0 0.007 0.086 695
& B At & 3| 0.020 0.078 0.036 0 100.0 0.011 0.258 64.6
&  Fr| 0.021 0.084 0.038 0 100.0 0.010 0.231 68.8
B [ 0.020 0.076 0.034 0 100.0 0.011 0.188 64.4
= A5 A B |l 0013 0.054 0.026 0 100. 0 0.006 0.114 67.6
hnes w3l Bl 0.021 0.072 0.037 0 100.0 0.012 0.226 63.2
il | 0.017 0.068 0.032 0 100. 0 0.012 0.143 59.2
& =| 0.015 0.071 0.033 0 100.0 0.006 0.130 7138
E | 0.013 0.062 0.030 0 100.0 0.005 0.123 72.3
= B wmE & Al 0019 0.078 0.036 0 100.0 0.013 0.225 59.8
7O oWl & Frl 0.010 0.066 0.024 0 100.0 0.005 0.108 67.3
N #] 0.017 0.073 0.032 0 100.0 0.006 0.128 75.0
I 48] 0.020 0.074 0.037 0 100. 0 0.011 0.147 65.1
i BE| 0.022 0.074 0.038 0 100. 0 0.013 0.264 62.5
=] €[ 0.020 0.084 0.038 0 100. 0 0.010 0.283 66.0
iz v | H  H 0.017 0.064 0.034 0 100.0 0.012 0.212 58.7
e F| 0.018 0.069 0.034 0 100.0 0.009 0.120 65.7
i 7| 0.016 0.069 0.028 0 100.0 0.006 0.101 73.6
2 = 0.013 0.067 0.026 0 100.0 0.007 0.105 67.0
#* B| 0.007 0.039 0.016 0 100.0 0.005 0.072 58.0
X F Er{ET &  ij| 0.024 0.069 0.036 0 100. 0 0.030 0.261 443
B B omm & ARl 0.013 0.105 0.026 0 100.0 0.006 0.108 701
&£ s & PR 0.017 0.064 0.030 0 100.0 0.020 0.179 46.0
o ¥ Wlm & PR 0.016 0.059 0.030 0 100.0 0.008 0.092 65.9
MR AT F & R PR 0.005 0.060 0.013 0 100.0 0.002 0.065 69.9
2 M mwm %&  Fr| 0010 0.066 0.026 0 100.0 0.004 0.164 716
M X mm & Fr| 0014 0.076 0.031 0 100.0 0.006 0.099 69.1
(BZ] 1. BEYEOEEO 8%IE] &lE. ERMICH-SBEHEN S BELENS98%EIC HREETRT.
2. NO2 — NOAREEESATVIERONO 2 BEDEMICH-HEH
NO+NO2 NOERUNO 2 AREAEEATLAENONO+NO 2 BEDOEMITHhT- 54
3. x[IBEEECKEROBERT.
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E5-3%k —_BMILEROBELL (E4 : ppm)
£ = ] B

Al E B |FreEE | TRsEE | TR | RS | TR EE | TR EE | FASEE | TRIEE| FRI0EE TRIERE

ik 210 0.023 | 0.023 ] 0.022 [ 0.022 | 0.024 | 0.024 | 0.026 | 0.023 | 0.023 | 0.020

o 5] 0.029 ] 0.030 ] 0.029 [ 0.030 [ 0.029 ] 0.029 | 0.028 | 0.028 | 0.026 | 0.024

B & @ #1[ 0.032 | 0.032 | 0.033 [ 0.033 | 0.033 | 0.034 | 0.033 | 0.033 | 0.032 | 0.029
B 8] 0.027 1 0.028 [ 0.026 [ 0.026 | 0.024 | 0.028 | 0.026 | 0.027 | 0.026 | 0.024

Fi] 28] 0.027 1 0.027 | 0.026 | 0.026 | 0.026 | 0.027 | 0.028 | 0.026 | 0.025 | 0.024

4 &= =8 0.022[0.023]0.021 ] 0.022] 0.022 [ 0.022 [ 0.024 | 0.022 | 0.022 | 0.020

W & A7 0.030]0.031]0.028[0.029 [ 0.030 [ 0.032 | 0.033 [(0.031)] 0.026 | 0.027

B8 2 % Frl 0.035[0.036 | 0.034 ] 0.040 | 0.038 | 0.038 [ 0.039 | 0.035 | 0.035 | 0.032

7T TR A A E f7 0.031 | 0.033]0.030 ] 0.032[0.030 ] 0.032[0.035 ] 0.031 | 0.027 | 0.024
B OB m = 4 0.022[0.023]0.020]0.020[0.022 [ 0.023[0.022 | 0.021 [ 0.018 | 0.017

i O /2 #|0.014]0.016]0.014]0.015]0.016 | 0.018 ] 0.017 | 0.015 | 0.015 | 0.016

E R F @l — — — — — 10.030[0.030]0.027 | 0.025 | 0.024

= E il = /=2 %) 0.016 | 0.017 ] 0.016 | 0.016 | 0.015 ] 0.016 | 0.017 | 0.016 | 0.014 —
Ry RS — — — — — — — = — 0.014

F & mlm & A 0.017[0.023]0.024[0.024]0.023[0.024[0.023]0.022 | 0.024 | 0.022
= 5 hlEAdatrr4— 0.021 [0.023]0.022 [ 0.022 | 0.022 [ 0.023 | 0.025 | 0.024 | 0.023 | 0.020
N 7 mm & A 0.017[0017]0.016[0.017]0.016[0.017]0.018]0.018 | 0.017 | 0.017
= ®| mm & A 0013[0.013]0.013[0.014]0.011[0.013]0.014]0.013[ 0.013 | 0.013
2 57/ 0.026 | 0.028 [ 0.028 [ 0.028 [ 0.028 | 0.030 | 0.031 [ 0.028 | 0.027 | 0.025

3 % 0.026 | 0.026 | 0.025 | 0.024 | 0.025 | 0.030 | 0.028 | 0.027 | 0.024 | 0.023

# 0.024 | 0.028 ] 0.027 [ 0.027 [ 0.026 | 0.027 [ 0.029 | 0.026 | 0.023 | 0.021

3 &]10.02010.020 [ 0.021] 0.021 ] 0.020 ] 0.022 | 0.022 [ 0.020 | 0.019 | 0.017

E B m 43 0.028[0.030[0.031]0.032]0.030[0.033[0.033[0.031 | 0.029 | 0.027

B F mE B\ 0.026 | 0.026 [ 0.025 [ 0.025 | 0.022 | 0.026 [ 0.028 | 0.027 | 0.024 | 0.025
& Bl - — — — — — —  [(0.032)] 0.031 | 0.029

B N &lo0.017]0.018[10.017[0.016]0.017 ] 0.019] 0.020] 0.016 | 0.018 | 0.016

= 7k] 0.027 1 0.028 [ 0.027 [ 0.027 ] 0.024 ] 0.027 | 0.028 | 0.029 | 0.026 | 0.027

i 7 0.017 ] 0.018 [ 0.019 [ 0.019] 0.017 | 0.021 | 0.022 | 0.020 | 0.019 | 0.016

W &5 £/0.012[0.013[0.012]0.013]0.012[0.012]0.013]0.014] 0.015 | 0.013

it 0.012 | 0.014] 0.014 [ 0.014] 0.013 | 0.014 [ 0.015 | 0.014 | 0.014 | 0.014

it ) 0.011[0.012]0.012]0.012]0.012[ 0.013 ] 0.013 | 0.015 | 0.015 | 0.014

B & wWHE F| 0.024 | 0.025 | 0.024 | 0.025 | 0.023 | 0.026 [ 0.027 | 0.025 | 0.023 | 0.023.
= Bl — — — — — — — = — 0.019

* & 12/ 0.023]0.0240.024]0.024 | 0.021 | 0.024 [ 0.028 | 0.025 [ 0.024 | 0.021

fa = @y|ET % #] 0.014 ] 0.016 | 0.015 | 0.016 [ 0.015 ] 0.018 | 0.017 [ 0.017 | 0.017 | 0.015
% E mfEr &  #0.022]0.022]0.021]0.022[0.020] 0.022 | 0.024 | 0.023 | 0.020 [ 0.020
M & P 0.020 [ 0.022 [ 0.021 [ 0.020 [ 0.019 | 0.023 [ 0.024 | 0.022 | 0.022 | 0.021

E H - — — — — — 10.02410.023] 0.021 [ 0.020

55 o R ml — — — — — — [o0.015]0.015] 0.013 | 0.013

ha g | Bl M = — — — — — [ 0.025[0.023] 0.022 | 0.021
i B — — — — — — | 0.018[0.019] 0.018 | 0.017

B oom  #H - — — — — — [0.017]0.017] 0.016 [ 0.015

T = - — — — — — | 0.015]0.014] 0.013 | 0.013

= ¥ mth &  Ff 0.019]0.021 ] 0.020 [ 0.021 ] 0.019 ] 0.021 | 0.023 | 0.023 | 0.020 | 0.019
7 & mih & A 0.012]0.013]0.012]0.012) 0.012]0.013[0.013]0.012 | 0.011 | 0.010
J\ ] 0.018]0.020] 0.019 ] 0.019] 0.017 | 0.016 | 0.020 | 0.020 | 0.018 | 0.017

Ty | 0.021 [ 0.022 [ 0.021 ] 0.022]0.020] 0.021 [ 0.022 | 0.022 | 0.021 | 0.020

i B[ 0.024 [0.025] 0.023]0.024 [ 0.024 | 0.025 [ 0.025 | 0.025 | 0.024 | 0.022

B € 0.019 | 0.021 ] 0.018"] 0.018 [ 0.017 | 0.020 [ 0.022 [ 0.020 | 0.016 | 0.020

iERR M| = =0 0.019/0.019]0.019] 0.020] 0.019 | 0.021 ] 0.020 | 0.017 | 0.018 | 0.017
ol Fl0.018]0.018 [ 0.018] 0.017{ 0.018] 0.018 | 0.020 | 0.020 | 0.019 | 0.018

i 7§ 0.013 [ 0.015] 0.015 } 0.015] 0.015 [ 0.016 | 0.017 | 0.019 | 0.016 | 0.016

ElR =] 0.014 | 0.016 | 0.015 | 0.013 | 0.014 | 0.013 | 0.015 | 0.014 | 0.012 | 0.013

* @l 0.012[0.013]0.012]0.011[0.011]0.012]0.012{0.012] 0.011 | 0.007

X F BrlfT 4 #0.022 [0.026 [ 0.024 ] 0.025 [ 0.024 | 0.024 | 0.026 | 0.026 | 0.025 | 0.024
% % mlm & A7 0.013]0.0140.013[0.014{0.012] 0.014 ] 0.016 | 0.015 [ 0.014 | 0.013
¥ £ mlm ®&  FFl0.015]0.018]0.017]0.017]0.018]0.017 | 0.019] 0.019 | 0.018 | 0.017
7z @ mlm & FFl 0.016 ] 0.018[0.017 ] 0.017] 0.016 | 0.018 | 0.018 | 0.018 | 0.017 | 0.016
34 B BT|48 = & & AF| 0.005 | 0.005 | 0.005 | 0.005 | 0.005 | 0.005 | 0.005 | 0.005 | 0.005 | 0.005
2 M mm &  F7 0.011[0.011[0.011]0.011]0.010]0.011{0.010 | 0.010 | 0.010 | 0.010
MW & dlfm  ®& Al 0.0160.018 [ 0.015]0.015] 0.013 ] 0.017 ] 0.017 | 0.016 | 0.016 | 0.014
& -} po ] 0.020 [ 0.021 ] 0.020 | 0.021 | 0.020 | 0.022 | 0.022 | 0.021 | 0.020 | 0.019

(fa#) () TEIEBEMIELTVWVIENWEESEZRT,
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-4k —BILBZORELL (Ei{i : ppm)

F E 3| B

bl E B |Tmeas|wass | TRiErr | Tass| Tss | TRTEE | TR SR | THOEE|TRI0EE|TRIER

it ] 0.013] 0.015 ] 0.012] 0.014 | 0.012 | 0.013 | 0.016 | 0.014 | 0.013 | 0.011

5 2110.023 | 0.024 ] 0.019 [ 0.021 | 0.018 [ 0.018 [ 0.021 | 0.020 | 0.018 | 0.015

B & @ 280 0.025 | 0.027 | 0.024 | 0.025 [ 0.022 [ 0.023 [ 0.027 | 0.025 | 0.022 | 0.019
= 251 0.020 | 0.021 ] 0.016 [ 0.017 | 0.016 | 0.017 [ 0.019 | 0.018 | 0.017 | 0.013

i 21 0.018 | 0.020 | 0.015 | 0.018 [ 0.016 [ 0.019 | 0.020 | 0.018 | 0.017 | 0.014

& = 24 0.013]0.014 [ 0.012 [ 0.013[0.012 ] 0.012 | 0.014 [ 0.012 | 0.011 | 0.010

T &  Ff 0.020] 0.024 [ 0.018 [ 0.020 [ 0.018 | 0.022 | 0.022 [(0.019)| 0.017 | 0.016

B E % /A 0.036]0.039 ] 0.036 [ 0.041 [ 0.037 | 0.030 | 0.032 | 0.028 | 0.026 | 0.022

W E OHE A E & 0.027 | 0.028 [ 0.023 ] 0.029 [ 0.021 | 0.022 | 0.027 [ 0.022 | 0.020 | 0.018
B % o % # 0.012[0.012[0.010[0.012]0.010] 0.012 [ 0.014 | 0.010 | 0.009 | 0.008

1 B /s 2 4% 0.009 | 0.011 ] 0.009 [ 0.009 [ 0.009 | 0.011 | 0.012 [ 0.010 | 0.010 | 0.011

E OB F OBl — - — — — 0.019 [ 0.022 [ 0.018 | 0.016 [ 0.014

= E il = /N = & 0.007 | 0.008 | 0.007 | 0.008 | 0.006 | 0.008 | 0.009 | 0.008 | 0.006 —
PRy ENEE  — — — — — - [F = — - 0.005

# B mlm &  Ar] 0.011]0.014 ] 0.015] 0.012 [ 0.014 | 0.017 | 0.016 | 0.015 | 0.015 | 0.014
= 1Z hi=Amitzo 42— 0.014]0.014 [ 0.013 [ 0.014 [ 0.013 | 0.016 | 0.017 | 0.014 | 0.014 [ 0.013
I 8 s & A 0.010 ] 0.010 [ 0.008 | 0.009 [ 0.009 | 0.009 | 0.009 [ 0.011 | 0.009 | 0.008
= @ mm & 7 0.009]0.010 ] 0.009 [ 0.009 [ 0.009 | 0.009 [ 0.009 | 0.008 | 0.009 | 0.008
i 5T 0.022 | 0.022 1 0.019 [ 0.022 ] 0.019 [ 0.024 [ 0.025 | 0.019 [ 0.018 | 0.016

R’ 2 0.017 ] 0.018 | 0.015 | 0.017 [ 0.015 [ 0.025 [ 0.019 | 0.017 | 0.016 | 0.013

# 0.021 | 0.021 | 0.020 | 0.019 | 0.017 | 0.023 | 0.021 [ 0.018 | 0.012 | 0.010

E 2 0.011]0.012] 0.011 | 0.011 [ 0.011 ] 0.014 | 0.014 | 0.011 [ 0.007 | 0.007

E B @ 2B 0.023]0.024 | 0.021 [ 0.022 [ 0.020 | 0.024 | 0.025 | 0.021 | 0.020 | 0.012

w7 OHE m| 0.027 | 0.022 | 0.019 | 0.016 | 0.011 | 0.016 | 0.017 | 0.014 | 0.016 | 0.013
8 Bl - — — — — — — |(0.031)] 0.025 | 0.023

B Jil 4] 0.008]0.010] 0.009 | 0.008 | 0.008 [ 0.008 | 0.010 | 0.009 | 0.008 | 0.007

= [ 0.022 [ 0.025 ] 0.020 [ 0.023 [ 0.019 [ 0.021 [ 0.026 | 0.023 | 0.022 | 0.019

fig 7 0.011 | 0.012 | 0.011 | 0.012 [ 0.012 [ 0.014 | 0.015 | 0.012 | 0.013 | 0.009

# =3 4 0.005] 0.008 | 0.005 | 0.007 [ 0.005 | 0.006 | 0.006 | 0.006 | 0.005 | 0.004

it 0.005 | 0.007 | 0.006 | 0.006 | 0.006 | 0.006 [ 0.007 [ 0.006 | 0.007 | 0.005

[ 7| 0.009 | 0.012 | 0.011 [ 0.011 [ 0.012 | 0.014 [ 0.015 | 0.013 | 0.017 | 0.013

B 7 WE 7/ 0.018 | 0.021 | 0.017 | 0.019 [ 0.017 [ 0.019 | 0.022 | 0.018 | 0.018 | 0.015
= Rl — — — — — — — — 0.009

* A& {3 0.017]0.0190.017 [ 0.018 ] 0.014 [ 0.017 | 0.022 | 0.021 0.016 0.015

#2 = Wj[Fr 4% 38| 0.006 | 0.007 [ 0.006 [ 0.008 | 0.007 | 0.008 | 0.008 | 0.009 | 0.008 | 0.007
¥ = mErEr & ] 0.013 ] 0.013 ] 0.012 | 0.013 [ 0.011 ] 0.013 | 0.014 [ 0.013'| 0.013 | 0.011
7 & 7 0.012 ] 0.015] 0.012 ] 0.013 [ 0.013 | 0.014 | 0.015 [ 0.014 | 0.010 | 0.010

B H = — — — — — |o0.013]10.013] 0.012 | 0.011

EH AR -— — — — — — 0.005 | 0.006 | 0.006 | 0.006

Hn e ) A3l g - — — — — — 0.016 | 0.016 | 0.014 | 0.012
e H - — — — — — 0.013 | 0.012 | 0.013 | 0.012

oM T — — — — — — 0.009 | 0.008 | 0.008 | 0.006

I b — — — — — 0.005 | 0.005 | 0.006 | 0.005

= ® m|m__ & F7 0.013 | 0.015] 0.013 [ 0.015 [ 0.013 ] 0.015 | 0.017 | 0.016 | 0.015 | 0.013
7w B m|m &  F§| 0.007 | 0.008 | 0.007 | 0.006 | 0.007 [ 0.007 | 0.010 | 0.006 | 0.008 | 0.005
J\ #[0.010 0.012 ] 0.011 | 0.012 [ 0.011 [ 0.012 | 0.012 | 0.008 | 0.007 | 0.006

T M 0.016 | 0.018 | 0.016 | 0.016 | 0.015 [ 0.016 [ 0.018 | 0.014 | 0.013 | 0.011

il %[ 0.016 | 0.017 | 0.015 | 0.016 [ 0.014 [ 0.017 | 0.018 | 0.016 | 0.016 | 0.013

= Bl 0.012 | 0.013 [ 0.010 [ 0.011 [ 0.011 | 0.013 | 0.014 | 0.012 | 0.010 | 0.010

i & W@ 2 = % 0.012]0.012[0.011[0.013]0.012 [ 0.015 | 0.013 [ 0.014 | 0.013 | 0.012
iR F/ 0.010 | 0.010 | 0.009 [ 0.009 [ 0.010 [ 0.010 [ 0.012 | 0.011 | 0.011 | 0.009

il 78 0.005 | 0.008 | 0.007 | 0.007 | 0.007 [ 0.008 | 0.008 | 0.006 | 0.006 | 0.006

El =] 0.009 | 0.011[0.009[0.010[0.012]0.014 ] 0.012 | 0.011 | 0.008 | 0.007

% M| 0.006 | 0.006 | 0.005 | 0.004 | 0.004 | 0.005 [ 0.004 | 0.005 | 0.005 | 0.005

A F HT|BT 4& ] 0.034 ] 0.039 [ 0.034 | 0.037 | 0.034 [ 0.034 | 0.035 | 0.035 | 0.033 | 0.030
% & m|m 4@ A7 0.006 | 0.006 | 0.006 | 0.006 | 0.006 | 0.007 | 0.008 | 0.006 | 0.006 | 0.006
B & msm &  FF 0.014]0.0180.018]0.019] 0.021 | 0.022 | 0.033 | 0.024 | 0.022 | 0.020
7 B | 4#& Ff] 0.018]0.010] 0.009 | 0.009 | 0.009 | 0.010 | 0.010 | 0.011 | 0.010 | 0.008
18 B BTj#8 B & & Ar| 0.002 | 0.002 [ 0.002 | 0.002 | 0.002 | 0.003 | 0.002 | 0.002 | 0.002 | 0.002
= W mm & A 0.005]0.007 [ 0.012]0.013]0.007 | 0.005 | 0.003 | 0.003 | 0.007 | 0.004
W & mm & 7 0.010] 0.009 | 0.006 | 0.007 | 0.007 [ 0.009 | 0.007 | 0.008 | 0.006 | 0.006
= C} I #0.014 | 0.015 | 0.013 | 0.014 | 0.013 [ 0.015 [ 0.015 | 0.013 | 0.013 | 0.011

(f&=&) ( ) [TFZHE %E’#Fﬁﬂ[ ELTWEWEFEEEEERT,
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$5-5% —BILHREQIEHERVEREEEN (Fak1 1 FE)

. 1 BSRSIE BT{E |BEHEH0. 04ppmZ | 1 ﬂ_‘-."fF'aﬁ{EﬁfO. 1ppm:{r_~
pill E = FEHE DESIE D2%K5 | Z-BHRUERE | BA-BEERUE
=EE (BRHAREEMIC &L B) R
ppm ppm ppm H % i) %
ER 21| 0.004 0.022 0.008 0 100. 0 0 100. 0
B & mf | 0.006 0.031 0.010 0 100. 0 0 100. 0
5 =1 0.006 0.030 0.012 0 100. 0 0 100.0
= W& Fil 0.002 0.027 0.006 0 100. 0 0 100.0
& B % Fi| 0.006 0.025 0.011 0 100.0 0 100.0
B E HE KA R 8 0006 0.023 0.010 0 100. 0 0 100. 0
BB & R 0004 0.027 0.009 0 100. 0 0 100. 0
W A o/ 2 & 0004 0.022 0,007 0 100. 0 0 100. 0
= E W@me s g 0004 0.027 0.009 0 100. 0 0 100.0
£ FF w4 & Al 0005 0.024 0.008 0 100. 0 0 100.0
F F mEAEato42—| 0004 0.020 0.008 0 100. 0 0 100.0
JI| 8 il % W & Al 0.004 0.017 0.006 0 100. 0 0 100. 0
= H W= @8 W #& Fi| 0003 0.017 0.006 0 100. 0 0 100.0
2 Tl 0.003 0.036 0.009 0 100. 0 0 100.0
® #| 0.005 0.072 0.011 0 100. 0 0 100.0
# 0.002 0.032 0.006 0 100. 0 0 100. 0
= 41 0.002 0.024 0.006 0 100. 0 0 100.0
E E ® = 0003 0.022 0.006 0 100. 0 0 100. 0
= HE| 0.005 0.052 0.010 0 100. 0 0 100.0
M 7 A B 0.005 0.028 0.010 0 100. 0 0 100. 0
B )1 & 0.003 0.020 0.007 0 100. 0 0 100. 0
E 7k| 0.004 0.026 0.009 0 100. 0 0 100. 0
fii] | 0.002 0.026 0.004 0 100. 0 0 100. 0
# il #| 0.003 0.018 0.006 0 100. 0 0 100. 0
it 0.002 0.026 0.006 0 100. 0 0 100. 0
it #|  0.002 0.017 0.005 0 100. 0 0 100.0
Ed F| 0.006 0.046 0.012 0 100. 0 0 100. 0
Bl B m= 2| 0.005 0.028 0.010 0 100. 0 0 100. 0
PN A £ 0.002 0.017 0.006 0 100. 0 0 100. 0
i = BT = BT & 13| 0.004 0.035 0.008 0 100. 0 0 100. 0
B OE EE B B & 1§ 0004 0.040 0.010 0 100. 0 0 100. 0
pA e I T & PRl 0.004 0.028 0.010 0 100. 0 0 100.-0
E | 0.005 0.036 0.011 0 100. 0 0 100. 0
E A A R 8 0004 0.031 0.008 0 100. 0 0 100. 0
A0 TR | 0.006 0.054 0.012 0 100. 0 0 100. 0
H % 0.004 0.033 0.009 0 100. 0 0 100. 0
= pid =| 0.004 0.024 0.007 0 100. 0 0 100. 0
o | 0.003 0.022 0.007 0 100. 0 0 100.0
= B TWE ® W & AF| 0005 0.023 0.009 0 100. 0 0 100. 0
A mERBT firl  0.002 0.045 0.006 0 100. 0 0 100. 0
J\ |  0.005 0.024 0.010 0 100. 0 0 100. 0
A M| 0.005 0.029 0.011 0 100. 0 0 100.0
£ E| 0.004 0.016 0.007 0 100. 0 0 100. 0
=] | 0.004 0.036 0.009 0 100. 0 0 100. 0
1E BRI 5| | 0.004 0.021 0.008 0 100.0 0 100. 0
#8 F| 0.003 0.021 0.005 0 100. 0 0 100.0
i 7|  0.004 0.023 0.008 0 100. 0 0 100.0
2 = 0.004 0.017 0.007 0 100. 0 0 100.0
# @ 0.003 0.014 0.006 0 100. 0 0 100.0
K F WX F Br & %] 0.005 0.021 0.009 0 100. 0 0 100.0
e B TH|EE ¥ & PRl 0.003 0.019 0.007 0 100. 0 0 100. 0
B 4 T &£ W & Bl 0003 0.018 0.007 0 100. 0 0 100. 0
7 ¥E ThiZ B W & Al 0.004 0.025 0.008 0 100. 0 0 100. 0
18 B ET|# F R 8 FR| 0.002 0.013 0.006 0 100. 0 0 100. 0
2 HM H2 @ % & Fr| 0003 0.022 0.009 0 100. 0 0 100.0
MR TN K T & ARl 0.004 0.026 0.008 0 100. 0 0 100. 0
ES 5] == ¥ | 0.004 0.027 0.008 0 100. 0 0 100.0
(f5E] THEHEOD 2 %BNHME] &E. EMICHhEZTHEOFELANSL 2%0OFHEICH LD ERMFLE

BEHETH S,
#l HIHRHEEHIESHM2%=7. 38 7EHMZERAL, SHERIZRVBEYEE 2 %HRMEL T 5.
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E5-63% — 1k mEDOREEIL (B4L - ppm)
3 E 1 R
pill E B |maoem|amse | vras e | wnsa s | T | TR 7EE | TalssE | TROEME | TR10EETRIIEE
It 211 0.008 | 0.008 | 0.007 | 0.006 | 0.006 | 0.006 | 0.006 | 0.006 | 0.005 | 0.004
o 211 0.009 | 0.010 | 0.008 | 0.007 | 0.008 | 0.008 | 0.008 | 0.007 | 0.006 | 0.006
E ¥ W& Z1l 0.011 | 0.0710 | 0.008 | 0.008 | 0.009 | 0.009 | 0.010 | 0.008 | 0.006 | 0.006
B =r] 0.008 | 0.008 | 0.006 | 0.007 | 0.007 — = = — —
i #i] 0. 009 | 0.009 | 0.008 | 0.006 | 0.007 — — — — —
4+ = =| 0.007 | 0.007 | 0.007 | 0.006 | 0.006 — — — — —
m & & 0.008 | 0.009 | 0.008 | 0.007 [ 0.008 | 0.006 | 0. 006 |(0.006)| 0.005 | 0.002
B B =% 7 0.009 | 0.011 [ 0.009 | 0.008 [ 0.008 [ 0.007 | 0.007 | 0.006 | 0.006 | 0.006
wE HE KL E &8 0.007 ] 0.009 [ 0.007 | 0.006 | 0.007 | 0.007 | 0.006 | 0.006 | 0.005 | 0.006
B B th & 4 0.005 | 0.005 | 0.006 | 0.004 [ 0.005 | 0.005 | 0.005 | 0.005 | 0.004 | 0.004
il & /s 2= % 0.003 | 0.005 | 0.005 | 0.004 [ 0.004 [ 0.004 | 0.004 | 0.004 | 0.004 | 0.004
= B m|L = /N % & 0.005] 0.006 | 0.005 | 0.005 | 0.005 | 0.005 | 0.005 | 0.004 | 0.004 —
WE s ENEE  — — — — — — — — — 0.004
& 5 mlm 4& A 0.006 | 0.007 | 0.006J 0.006 | 0.005 | 0.005 | 0.006 | 0.006 | 0.005 | 0.005
= 1B mh|zAmae~4—] 0.005 ] 0.007 | 0.006 | 0.005 | 0.005 | 0.005 | 0.006 | 0.004 | 0.004 | 0.004
Nl 78 |\ 4% 7 0.005 | 0.005 | 0.005 | 0.005 [ 0.005 | 0.005 | 0.005 | 0.004 | 0.003 | 0.004
= W\ m|m &  FF| 0.005 | 0.005 | 0.004 [ 0.003 | 0.004 | 0.004 | 0.004 | 0.003 | 0.003 | 0.003
2 [ 0.007 | 0.007 | 0.006 | 0.005 | 0.005 | 0.005 | 0.005 | 0.004 | 0.004 | 0.003
i k| 0.007 [ 0.008 | 0.008 | 0.007 | 0.007 | 0.007 | 0.007 | 0.006 | 0.006 | 0.005
H 0.007 | 0.006 | 0.006 | 0.005 | 0.006 | 0.004 | 0.005 | 0.004 | 0.003 | 0.002
E = 0.006 | 0.006 | 0.006 | 0.006 | 0.005 | 0.005 | 0.005 | 0.005 | 0.003 | 0.002
E & & 25 0.009 ] 0.009 | 0.009 | 0.009 [ 0.008 | 0.008 | 0.009 | 0.008 | 0.007 | 0.003
#F WE M| 0.007 | 0.007 | 0.007 | 0.006 | 0.005 | 0.006 | 0.007 | 0.005 | 0.005 | 0.005
B 2| 0.011 | 0.011 | 0.010 [ 0.008 | 0.008 | 0.007 | 0.007 | 0.007 | 0.005 | 0.005
B JII 4] 0.005 | 0.005 | 0.005 | 0.004 [ 0.005 | 0.004 | 0.005 | 0.004 | 0.003 | 0.003
S 7| 0.007 | 0.007 | 0.007 | 0.006 [ 0.006 | 0.006 | 0.007 | 0.006 | 0.005 | 0.004
[ 2] 0.004 | 0.004 [ 0.004 | 0.003 | 0.003 | 0.004 | 0.004 | 0.003 | 0.002 | 0.002
# 28 4] 0.003 | 0.003 | 0.003 | 0.003 | 0.004 | 0.004 | 0.004 | 0.003 | 0.003 | 0.003
it 0.004 | 0.004 | 0.004 | 0.004 | 0.004 | 0.004 [ 0.005 | 0.004 | 0.004 | 0.002
1 7| 0.003 | 0.003 [ 0.003 | 0.002 [ 0.002 | 0.002 | 0.003 | 0.002 | 0.002 | 0.002
B & wE Z|/ 0.007 | 0.007 [ 0.007 | 0.007 [ 0.006 | 0.008 | 0.009 | 0.007 | 0.006 | 0.006
= =] 0.007 | 0.007 | 0.009 | 0.006 | 0.006 | 0.006 | 0.007 | 0.006 | 0.006 | 0.005
* X 4% 0.007 | 0.005 | 0.006 | 0.006 [ 0.006 | 0.006 | 0.007 | 0.006 | 0.005 | 0.002
T = ET|ET 4% 18| 0.004 | 0.005 | 0.004 | 0.004 [ 0.004 | 0.004 | 0.005 | 0.005 | 0.004 | 0.004
B ET|ET 4 33| 0.006 | 0.007 | 0.006 | 0.006 | 0.006 | 0.007 [ 0.007 | 0.005 | 0.004 | 0.004
T & A 0.007 | 0.006 | 0.006 | 0.005 | 0.006 | 0.006 | 0.006 | 0.005 | 0.005 | 0.004
B £ = — — — — — 10.007 ] 0.006 | 0.006 | 0.005
EAHNERfE — — — — — — [ 0.005]0.004] 0.004 | 0.004
il - — — — — — 0.007 | 0.006 | 0.006 | 0.006
b 5 - - — — — — 0.005 | 0.004 | 0.004 | 0.004
B w5 - — — — — — 0.005 | 0.004 | 0.004 | 0.004
I = — — — — 0.004 | 0.004 | 0.004 | 0.003
= ¥ |t 4 Pl 0.005 | 0.006 | 0.005 | 0.005 | 0. 005 0.006 | 0.005 | 0.005 | 0.005 | 0.005
7 % |m 4% A7 0.005 | 0.005 | 0.004 [ 0.004 | 0.004 [ 0.005 | 0.006 | 0.004 | 0.002 | 0.002
A [ 0.006 | 0.007 | 0.006 | 0.005 | 0.005 | 0.005 | 0.005 | 0.004 | 0.005 | 0.005
N 4@ 0.007 | 0.007 | 0.006 | 0.005 | 0.006 | 0.006 | 0.006 | 0.005 | 0.006 | 0.005
i EE| 0.006 | 0.007 | 0.006 | 0.005 | 0.005 | 0.006 | 0.006 | 0.005 | 0.005 | 0.004
=| %] 0.005 | 0.005 | 0.005 | 0.004 | 0.004 | 0.005 | 0.005 | 0.005 | 0.005 | 0.004
45 % (g0 = 9| 0.006 | 0.005 [ 0.005 [ 0.004 [ 0.004 | 0.004 | 0.005 | 0.004 | 0.004 | 0.004
# F[ 0.006 | 0.006 | 0.005 | 0.004 [ 0.005 [ 0.005 | 0.005 | 0.005 [ 0.003 | 0.003
£ 7&| 0.005 | 0.005 | 0.004 | 0.003 [ 0.004 | 0.004 | 0.004 | 0.004 | 0.004 | 0.004
=2 =] 0.006 || 0.005 | 0.005 | 0.004 | 0.004 | 0.004 | 0.004 | 0.004 | 0.004 | 0.004
% M| 0.004 | 0.003 | 0.003 | 0.003 | 0.003 | 0.003 | 0.003 | 0.003 | 0.003 | 0.003
X F BT|ET 4 13| 0.009 | 0.009 [ 0.008 | 0.007 | 0.007 | 0.007 | 0.007 | 0.006 | 0.005 | 0.005
8% & |t 4 A 0.005 ] 0.005 [ 0.005 ] 0.005 | 0.005 | 0.004 | 0.005 [ 0.004 | 0.003 | 0.003
8 % m|m & Pl 0.005 | 0.005 [ 0.004 [ 0.004 [ 0.004 | 0.004 | 0.005 | 0.004 | 0.003 | 0.003
5= @3 m|m 4  Ff| 0.005 | 0.006 | 0.005 [ 0.005 [ 0.005 | 0.005 | 0.005 | 0.005 | 0.005 | 0.004
8 R BT|38 & 4% & Fr| 0.003 | 0.003 [ 0.003 [ 0.003 [ 0.003 | 0.003 | 0.003 | 0.002 | 0.002 | 0.002
= m|m & A7l 0.002 | 0.003 | 0.003 | 0.002 | 0.002 | 0.002 | 0.002 | 0.003 |(0.003)| 0.003
M A& Tl & AR 0.006 0. 006 | 0.005 | 0.005 ] 0.005 | 0.006 | 0.005 | 0.004 | 0.004 | 0.004
£ B ¥ B 0.006 | 0.006 0.006 | 0.005 | 0.005 | 0.005 | 0.006 | 0.005 | 0.004 | 0.004
CED) () TEDAEERRI- ébtt\ﬂat\ﬂiiiﬂﬁ’&%‘a"
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B5—7% ZENFRYPEQINEREERVEEEENE (Fak1 1£E)

A o B | aegwgE| BEEO|EFGEOFEIEA. 20mg/m3EE| B F1984%0. 10mg/n3
‘ B | 2%k E| A-EBE%EERE | ZEA-BREEMRE

mg,/m3 mg/m3 mg/m3 B M EREY H ¥ | =p%E%
ik 8| 0.028 0.200 0.063 0 100.0 0 100. 0
th [ 0.025 0.210 0.059 1 100.0 0 100. 0
fe & mE =8| 0.028 0.149 0.061 0 100.0 0 100. 0
& | 0.030 0.181 0.064 0 100.0 0 100.0
7 6| 0.029 0.181 0.061 0 100.0 0 100. 0
d F 2| 0.035 0.217 0.075 5 99.9 0 100.0
m_ & B 0.028 0.209 0.060 1 100.0 0 100. 0
B E X FFl 0025 0.231 0.058 2 100.0 0 100.0
mE MEARSERESE 0029 0.225 0.065 2 100.0 0 100.0
B h i 0022 0.229 0.053 2 100.0 0 100. 0
W 8o/ % 0.023 0.245 0.053 2 100.0 0 100. 0
iE | | 0.026 0.246 0.063 5 99.9 0 100. 0
= B mlmaseasgs 0023 0.222 0.054 2 100.0 0 100. 0
& F+ mlm & A 0.028 0.258 0.061 2 100.0 0 100.0
£ & il matra—| 0025 0.217 0.057 2 100.0 0 100. 0
JIl 78 mlm & Py 0.026 0.223 0.057 1 100.0 0 100. 0
= B tlm %  Frl 0.024 0.233 0.057 2 100.0 0 100. 0
B3 Il 0.024 0.234 0.053 1 100.0 0 100. 0
& [ 0.027 0.221 0.059 1 100.0 0 100. 0
3 0.022 0.192 0.049 0 100.0 0 100. 0
E & 0.022 0.236 0.046 1 100.0 0 100. 0
E B & = 0.031 0.209 0.064 1 100.0 0 100. 0
E m[ 0.030 0.241 0.064 2 100.0 0 100. 0
w F ma E| 0.033 0.291 0.070 3 100.0 0 100. 0
B il &l 0019 0.203 0.042 1 100.0 0 100. 0
= 7k| 0.028 0.237 0.057 2 100.0 0 100.0
it} | 0.022 0.247 0.057 1 100.0 0 100. 0
& 5] o019 0.243 0.043 1 100.0 0 100. 0
it 0.017 0.247 0.043 i 100.0 0 100. 0
I | 0.021 0.241 0.053 2 100.0 0 100. 0
E3 . F| 0.028 0.310 0.062 2 100.0 0 100.0
B | = 2l 0.029 0.264 0.065 3 100.0 0 100. 0
*x A &[] 0026 0.258 0.061 3 100.0 0 100.0
e = ETIET  f& 32| 0.034 0.288 0.076 6 99.9 0 100. 0
B E Hr(Er & 38| 0.029 0.263 0.063 3 100.0 0 100.0
W & Fi 0.032 0.326 0.073 2 100.0 0 100. 0
B | 0.027 0.148 0.056 0 100.0 0 100.0
B A AR S&E 0028 0.321 0.069 3 100.0 0 100. 0
0 i (B #F|  0.030 0.264 0.069 2 100.0 0 100. 0
Fil 5| 0.033 0.272 0.076 2 100.0 0 100. 0
BE @ & 0022 0.178 0.053 0 100.0 0 100.0
E Tl 0.026 0.278 0.063 2 100.0 0 100. 0
= F milm % PR 0.023 0.243 0.059 3 100.0 0 100. 0
78 B mim & P 0.031 0.314 0.062 3 100.0 0 100.0
A\ & 0.027 0.261 0.063 2 100.0 0 100. 0
I wml  0.027 0.243 0.062 2 100.0 0 100. 0
i E|  0.030 0.220 0.067 1 100.0 0 100. 0
= ;[ 0.030 0.292 0.069 2 100.0 0 100. 0
B TWE & B 0.020 0.226 0.049 2 100.0 0 100. 0
) F[  0.021 0.260 0.057 1 100.0 0 100. 0
# 7| 0.026 0.304 0.063 2 100.0 0 100.0
E &= 0.019 0.280 0.045 2 100.0 0 100. 0
Py M| 0.022 0.284 0.055 2 100.0 0 100.0
KX F Hrjer & | 0.083 0.292 0.071 1 100.0 0 100.0
BE B wimn  #&  Pi| 0.025 0.270 0.059 2 100.0 0 100. 0
| &£ e & FR 0.027 0.306 0.064 3 100.0 0 100. 0
75 F flf & AWl 0.026 0.318 0.060 3 100.0 0 100. 0
A Hx R | 8 A 0019 0.269 0.044 4 100.0 0 100. 0
2 M oWt & ARl 0.021 0.210 0.053 1 100.0 0 100. 0
N A& T &  FFl 0.026 0.322 0.056 2 100.0 0 100. 0

(EE) 1. TETESED 2 %KRME] £1E. EMIch-2BEYEORELA, L 2%0HEICHZLOERM LT

BEHETHD.
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F5-8% FERMFEPEOREZEIL (BAE : mg/m3)
E_ £ 3] R
p:ll E Blzmerwasar|smise| T nssE T mos | TR 1w E | FRIEE| FRIEE|TRICFETRIER

it 2| 0.041 | 0.044 | 0.038 | 0.038 [ 0.039 | 0.038 | 0.038 | 0.037 | 0.036 | 0.028
ch 28 0.043 | 0.043 | 0.038 | 0.041 | 0.039 | 0.037 | 0.037 | 0.031 | 0.027 | 0.025
e & miE 280 0.051 | 0.053 | 0.043 | 0.040 [ 0.043 [ 0.043 | 0.042 | 0.036 | 0.033 | 0.028
i =8 0.049 | 0.049 | 0.043 | 0.042 [ 0.041 | 0.040 | 0.041 [ 0.039 | 0.038 | 0.030
fi] 2] 0.044 | 0.048 | 0.041 | 0.039 | 0.040 | 0.039 [ 0.036 | 0.035 | 0.033 | 0.029
it = =Bl 0.043 | 0.046 | 0.035 | 0.040 [ 0.040 | 0.038 | 0.040 | 0.038 | 0.042 | 0.035
/& | 0.035 ] 0.032 | 0.036 | 0.037 [ 0.038 | 0.036 | 0.035 [(0.033)] 0.028 | 0.028
® E X% 7 0.039 ] 0.036 ] 0.040 | 0.039 | 0.040 | 0.038 | 0.038 | 0.035 | 0.032 | 0.025
% = TR &k & E &8 0.044 | 0.040 [ 0.039 [ 0.034 | 0.034 [ 0.038 | 0.042 | 0.038 | 0.036 | 0.029
R B B = £ 0.032 | 0.029 | 0.030 | 0.043 [ 0.024 | 0.027 | 0.029 | 0.028 | 0.026 | 0.022
L O /s 2 #| 0.029 | 0.027 | 0.027 | 0.028 | 0.029 | 0.028 | 0.029 | 0.027 | 0.025 | 0.023
E B F #H - — — — — [ o0.041 | 0.040 | 0.030 | 0.029 | 0.026

= & L = /b == #] 0.034 | 0.030 | 0.030 | 0.030 | 0.030 | 0.025 | 0.030 | 0.028 | 0.027 —
MErENEH — — — — — — — — 0.023
B Fr mlm #& A7l 0.037 | 0.037 [ 0.040 | 0.036 | 0.041 | 0.041 | 0.042 | 0. 036 0.034 | 0.028
+ 15 Th|=Asmatt4—] 0.034 | 0.028 | 0.033 [ 0.033 [ 0.032 | 0.031 | 0.036 | 0.033 | 0.030 [ 0.025
)i % m|m 4% _ FR| 0.036 | 0.036 | 0.033 | 0.031 [ 0.032 [ 0.030 | 0.031 | 0.032 | 0.030 | 0.026
= @ m|m % A 0.035] 0.031 [ 0.031 [ 0.027 | 0.029 | 0.029 | 0.028 | 0.030 | 0.027 | 0.024
3 T 0.039 | 0.032 | 0.031 | 0.027 [ 0.030 | 0.030 | 0.029 | 0.029 | 0.026 | 0.024
® # 0.043 | 0.034 | 0.034 | 0.035 | 0.039 | 0.036 | 0.036 | 0.034 | 0.030 | 0.027
B 0.037 | 0.030 ] 0.029 | 0.029 | 0.032 [ 0.032 | 0.030 | 0.029 | 0.029 | 0.022
=3 =0.039 | 0.036 | 0.035 | 0.032 | 0.026 | 0.025 [ 0.026 | 0.023 | 0.026 | 0.022

E & 7 =8 0.034 ] 0.035 0.035 | 0.033 | 0.034 | 0.038 | 0.039 | 0.038 | 0.036 | 0.031
M F HE @[ 0.041 | 0.040 | 0.043 | 0.039 | 0.041 | 0.037 | 0.036 | 0.036 | 0.033 | 0.030
8 B[ 0.036 | 0.042 | 0.048 | 0.056 | 0.060 [ 0.041 | 0.043 | 0.042 | 0.039 | 0.033
B Jl__ 4] 0.036 | 0.039 | 0.032 | 0.036 | 0.036 | 0.030 | 0.023 | 0.021 | 0.021 | 0.019
B 7k| 0.044 | 0.047 | 0.044 | 0.037 | 0.038 | 0.034 | 0.033 | 0.033 [ 0.031 | 0.028
7 8] 0.041 | 0.043 | 0.034 | 0.033 | 0.034 [ 0.035 | 0.034 | 0.035 | 0.039 | 0.022
& 4| 0.034 ] 0.036 | 0.033 [ 0.032 [ 0.034 | 0.032 | 0.022 | 0.022 | 0.019 | 0.019
it 0.038 | 0.031 | 0.029 | 0.028 | 0.029 | 0.026 | 0.026 | 0.026 | 0.025 | 0.017

El 7| 0.034 | 0.035 | 0.035 | 0.029 [ 0.032 | 0.030 | 0.027 | 0.022 | 0.022 | 0.021
B | mE | 0.043 | 0.044 | 0.039 | 0.038 | 0.039 [ 0.039 | 0.037 | 0.035 | 0.032 | 0.028
= =) 0.043 | 0.040 | 0.035 | 0.037 | 0.037 | 0.041 | 0.040 | 0.037 | 0.034 | 0.029
* A& 4| — ]0.042]0.041 | 0.041 [ 0.040] 0.039 | 0.040 | 0.036 | 0.033 | 0.026
70 = BB & 38| 0.049 | 0.047 | 0.044 | 0.044 | 0.041 [ 0.042 | 0.042 | 0.038 | 0.040 | 0034
= g E|ET 4  #| 0.037 | 0.041 [ 0.037 | 0.034 | 0.038 [ 0.038 | 0.038 | 0.037 | 0.034 | 0.029
T & i 0.034 | 0.040 | 0.036 | 0.035 | 0.035 | 0.040 | 0.041 | 0.039 | 0.035 | 0032
2 o = — — — — — | 0.040 | 0.036 | 0.032 | 0.027
EHAEE — — — — — — | 0.036 [ 0.034] 0.032 | 0.028
p i 1T Bl — — — — — — 10.042 | 0.038 ] 0.034 | 0.030
Fil = — — — — —  10.041 | 0.041 [ 0.037 | 0.033
woo@m FH - - — — — — 1 0.036 | 0.037 | 0.034 | 0.022
b = — — — — — 1 0.036[0.033 | 0.029 | 0.026
= % Wlm @& i 0.034 | 0.034 | 0.033 [ 0.037 | 0.037 [ 0.030 | 0.029 | 0.032 | 0.026 | 0023
7 B it 4& 77| 0.034 | 0.033 ] 0.033 | 0.029 [ 0.029 | 0.027 | 0.028 | 0.022 | 0.032 | 0.031
A\ | 0.038 | 0.038 | 0.037 | 0.036 | 0.035 | 0.037 | 0.038 | 0.034 | 0.031 [ 0.027
I i 0.035 | 0.038 | 0.036 | 0.034 | 0.032 [ 0.035 | 0.037 | 0.034 | 0.032 | 0.027
Ed B[ 0.028 | 0.039 | 0.037 | 0.043 [ 0.042 [ 0.043 | 0.047 | 0.041 | 0.033 | 0.030
= 2| 0.037 | 0.040 | 0.037 | 0.035 | 0.033 [ 0.038 | 0.038 | 0.036 | 0.032 | 0.030
55 2% @ = B 0.037 | 0.039 | 0.036 | 0.037 | 0.037 | 0.034 | 0.032 | 0.026 | 0.024 | 0.020
i F|0.042 | 0.042 | 0.040 | 0.038 [ 0.036 | 0.037 [ 0.037 | 0.034 | 0.025 | 0.021
i 7G| 0.035 | 0.031 | 0.034 | 0.033 [ 0.034 | 0.031 | 0.033 | 0.032 | 0.030 | 0.026
= =] 0.029 | 0.033 | 0.034 | 0.031 [ 0.028 [ 0.030 | 0.027 | 0.024 | 0.024 | 0.018
#* m[ 0.034 | 0.033 | 0.037 | 0.034 [ 0.033 [ 0.033 [ 0.035 | 0.032 | 0.025 | 0.022
* 7 ETBT &  #2| 0.046 | 0.044 | 0.043 | 0.042 | 0.040 | 0.038 | 0.037 | 0.039 | 0.038 | 0.033
= & mlm @  F 0.034 ] 0.032 | 0.034 | 0.032 | 0.032 | 0.030 | 0.031 | 0.028 | 0.029 | 0.025
1 = m|m & A 0.038 | 0.032 | 0.035 | 0.034 [ 0.029 | 0.030 | 0.029 | 0.031 | 0.030 | 0.027
5 7@ m|m & A 0.036 | 0,032 | 0.031 | 0.032 [ 0.031 [ 0.032 | 0.030 | 0.030 | 0.031 | 0.026
15 B BT38 B (= & 77 0.026 | 0.023 | 0.025 | 0.024 | 0.026 | 0.024 | 0.026 | 0.024 | 0.022 | 0.019
= @ mim &  F7 0.031 ] 0.027 | 0.024 | 0.027 [ 0.027 | 0.022 | 0.024 | 0.029 | 0.022 | 0.021
M X W % Fr 0.030 0.029 0.030 | 0.029 | 0.032 | 0.033 | 0.033 | 0.033 | 0.032 | 0.026
2 & ¥ 13 0.038]0.037 | 0.036 [ 0.035 [ 0.035 ] 0.034 | 0.035 | 0.033 [ 0.031 | 0.026

BE () BB EERRELC L AL EEREEET. X. 2ETHEEES & Ll
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E5-9% HEFEAF LAY FORAERERVIREREEXLE (F1 1 EE)

R B 018

BE® 1 REHEA

B0 1 BEEN

A o B manzTeE M 1B o oepnzm@zs | 0 1200mblED

& . HAENE U A BEMEUEYK

ppm ppm B H =] B M =]

it il 0.038 0.154 549 104 6 3

B &\ T i1 0.021 0.106 120 35 0 0

3l & 0.026 0.107 104 34 0 0

7 il 0.031 0.100 265 65 0 0

il & il 0.021 0.089 48 18 0 0

® B ¥ 0.024 0.098 179 55 0 0

f E WE X N E £ 0.023 0.092 75 27 0 0

B B d = & 0.029 0.099 292 71 0 0

AT = = 0.031 0.111 428 75 0 0

E B F M 0.025 0.095 166 . 49 0 0

= B WEHARAsyENMNFEE 0.036 0.127 394 81 2 1

#/_ A wWmm & s 0.026 0.109 261 60 0 0

F B WmEARHECZ— 0.028 0.112 219 55 0 0

JI_ 78 TH|E & 3 0.031 0.117 325 71 0 0

= H mW % i 0.034 0.122 562 98 2 1

Ed H 0.029 0.105 179 55 0 0

i 0.033 0.117 447 97 0 0

= = 0.039 0.143 894 149 14 6

E &E BH B 0.030 0.138 407 90 3 1

£ H 0.024 0.084 89 33 0 0

wm B WA BE 0.023 0.103 69 23 0 0

=] ] = 0.034 0.124 451 91 3 1

i3 7K 0.030 0.121 280 67 1 1

i) i 0.027 0.116 259 61 0 0

# il & 0.035 0.126 527 90 3 1

it 0.033 0.114 322 68 .0 0

it  f 0.032 0.111 512 84 0 0

¥ F 0.024 0.092 107 35 0 0

BB /& W= R 0.028 0.109 287 74 0 0

X A % 0.019 0.091 79 26 0 0

8 = Hr(MT & 5 0.031 0.141 418 87 5 i

B BE  HTET % 5 0.029 0.111 389 88 0 0

il & 3l 0.029 0.135 314 72 3 1

ma N HE L 0.032 0.133 387 65 8 5

i % 0.029 0.114 280 68 0 0

R il = 0.024 0.110 254 53 0 0

=5 B WmE & i 0.028 0.125 311 70 1 1

B B W % 5l 0.032 0.114 553 96 0 0

A £ 0.032 0.106 445 81 0 0

& 1 0.030 0.132 326 83 3 1

] B 0.018 0.068 12 8 0 0

=] i 0.025 0.125 96 29 3 1

|BEORR T = % 0.028 0.112 258 60 0 0

b ¥+ 0.028 0.126 313 81 2 1

i [ic] 0.025 0.105 87 23 0 0

2 = 0.029 0.121 357 81 1 1

#* H 0.031 0.107 414 84 0 0

X F Hr|fT & 5 0.024 0.128 282 65 4 2

BE & mm & Al 0.029 0.114 323 68 0 0

B & mWH & B 0.028 0.105 334 69 0 0

* ® mWH jd i 0.025 0.105 167 49 0 0

B OHE B E & B B 0.034 0.115 420 76 0 0

£ M miE & Eil 0.031 0.114 477 64 0 0

i I S 1 N £ & 7l 0.033 0.140 399 84 3 2
(=] xEBHmiss. =8, HsE. 4 B/ SI0BETAELTLAS,
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#5-10F% HIEZAXFIH L FORBEEIL (B4 : ppm)
F a 15 &
pil] E 5] TR EE | T | TR | T R A | Ak B | R | T AL | F RO | R 0EF|ERNEE
Jt #1( (0.031) | (0.028) | (0.032) | (0.033) | (0.036) | (0.034) (0.034) | (0.021) | (0.027) | (0.038)
5 #1 0024 | 0.017 | 0.023 | 0.023 | 0.025 | 0.021 | 0.019 | 0.015 | 0.019 | 0.021
© B &% miE =] (0.020) | 0.017) | (0.023) [ (0.019) [ (0.023) | — — — = =
= =1 (0.019) | (0.016) | (0.022) | (0.026) | (0.028) | (0.024) | (0.021) | (0.017) | (0.020) | (0.026)
i [ (0.019) [ (0.019) | (0.027) | (0.028) | (0.035) | (0.030) | (0.032) | (0.024) | (0.027) | (0.031)
Jk B 11 (0.024) | (0.019) | (0.030) | (0.026) | (0.027) = = ez = =
& | 0.015 | 0.025 | 0.025 | 0.027 | 0.029 | 0.021 | 0.021 | 0.023 | 0.021 | 0.021
8 B % F#f| 0018 | 0.018 | 0.019 [ 0.021 [ 0.026 | 0.022 | 0.021 | 0.022 | 0.023 | 0.024
©F = WmE A 4 E 8 0017 | 0017 | 0.019 | 0.020 | 0.024 | 0.019 | 0.022 | 0.023 0.025 | 0.023
M b 5 % 0025 | 0.026 | 0.026 | 0.032 | 0.034 | 0.028 | 0028 | 0.028 | 0.031 | 0.029
W 0O/ 2 4| 0030 | 0029 [ 0.026 | 0.031 | 0.033 | 0.031 | 0.030 | 0.032 | 0.033 | 0.031
P - | - = — — — — — 0.024 | 0.025
© == M = /M = #| 0031 [ 0036 | 0.035 | 0.035 [ 0.040 | 0.036 | 0.033 | 0.030 | 0.032 —
WA EMNER  — = — — — — — — — 0.036
© & 5wt & R 0025 | 0020 | 0.022 | 0.025 | 0.031 [ 0027 | 0.029 | 0.028 | 0.026 | 0.026
© = & |z @it~ %—| 0028 [ 0.022 | 0.029 | 0.030 | 0.034 | 0.032 | 0.031 | 0.029 | 0.028 | 0.028
© Il 7 mlm %  FFl 0027 | 0.026 | 0.025 | 0.024 | 0.029 | 0.031 | 0.030 | 0.031 | 0.031 | 0.031
© = /|t 4 A 0027 | 0.030 | 0.031 | 0.031 | 0.036 | 0.035 | 0.034 | 0.032 | 0.028 | 0.034
" 3 0024 | 0023 | 0.026 | 0.026 | 0.029 | 0.025 | 0.029 | 0.027 | 0.029 | 0.029
3 0.023 | 0.021 | 0.023 | 0.025 | 0.026 | 0.023 | 0.023 | 0.025 [ 0.027 | 0.033
-3 2| 0031 | 0028 | 0.028 | 0.027 | 0.031 | 0.028 | 0.030 | 0.033 | 0.032 | 0.039
E E /& =B 0021 | 0019 | 0.024 | 0.022 | 0.028 | 0.024 | 0.024 | 0.028 | 0.028 | 0.030
O # F mlE m| 0028 | 0.024 | 0024 | 0.022 | 0.030 | 0.025 | 0.025 | 0.024 | 0.026 | 0.024
B 2| 0019 | 0.015 | 0.019 | 0.019 | 0.024 | 0.023 | 0.022 | 0.025 | 0.024 | 0.023
g )i =] 0029 | 0025 | 0028 | 0.029 | 0.031 | 0.029 | 0.029 | 0.030 | 0.032 | 0.034
ES 5k| 0.027 | 0.025 | 0.025 | 0.023 | 0.028 | 0.026 | 0.028 | 0.028 | 0.029 | 0.030
i} 74| 0030 | 0.025 | 0.028 | 0.027 | 0.033 | 0.030 | 0.027 | 0.030 | 0.030 | 0.027
m & 4| 0037 | 0036 | 0036 | 0.032 | 0.038 | 0.038 | 0.036 | 0.033 | 0.034 | 0035
it 0.035 | 0.032 | 0.033 | 0.033 | 0.038 | 0.034 | 0.034 | 0.036 [ 0.037 | 0.033
ik 7| 0031 | 0.028 [ 0.031 | 0.031 | 0.033 | 0.032 | 0.030 | 0.029 | 0.029 | 0.032
ES Z| 0022 | 0022 | 0025 | 0.026 | 0.030 | 0.029 | 0.023 | 0.028 | 0.027 | 0.024
© B |/ ®= Bl - — — — — — 0.033 | 0.031 | 0.028 | 0.028
x A B - = — — — — 0023 | 0.022 | 0.023 | 0.019
© W = E7jAT %4 2| 0031 | 0.029 [ 0.036 | 0.032 | 0.034 | 0.034 | 0034 | 0.029 | 0.032 | 0.031
© & B= Ei|BT % 12| 0.028 [ 0.029 | 0.032 | 0.028 | 0.034 | 0.027 | 0028 | 0.023 | 0.027 | 0.029
™ &  Ff| 0.028 | 0.027 | 0.030 | 0.026 | 0.029 | 0.027 | 0.027 | 0.026 | 0.027 | 0.029
B H - — — — — — 0.027 | 0.026 | 0.029 | 0.032
@nE N | Hl - - — — — — 0.029 | 0.026 | 0.028 | 0.029
B oom H - - — — — — 0.028 | 0.027 | 0.029 | 0.024
© 5 W mlm &  ff| 0022 | 0.029 [ 0.026 | 0.031 | 0.029 | 0028 | 0.030 | 0.027 | 0.030 | 0.028
7 B mim & A7 0026 | 0.022 [ 0.028 [ 0.030 | 0.033 | 0.030 | 0.034 | 0.031 | 0.027 | 0.032
J\ | 0027 | 0.026 | 0.031 | 0.030 | 0.035 | 0032 | 0.032 | 0.027 | 0.028 | 0.032
& ml 0.022 | 0.020 | 0.031 | 0.028 | 0.029 | 0.028 | 0.027 | 0.034 | 0.025 | 0.030
£ | 0019 | 0023 [ 0.025 | 0.021 | 0.022 | 0021 | 0.021 | 0.017 | 0.014 | 0.018
=i = 0025 | 0.023 | 0.028 | 0.026 | 0.029 | 0026 | 0.024 | 0.024 | 0.025 | 0.025
©iE & W@ = 5| 0024 | 0.022 | 0.026 | 0.021 [ 0.028 | 0.026 | 0.028 | 0.027 | 0.026 | 0.028
i F| 0026 | 0.028 | 0.028 | 0.026 | 0.029 | 0.026 | 0.024 | 0.024 | 0.025 | 0.028
i 7 0023 | 0.021 | 0.025 | 0.022 | 0.026 | 0.023 | 0.022 | 0.024 | 0.024 | 0.025
2 =| 0027 | 0.025 | 0.027 | 0.023 | 0.027 | 0025 | 0.025 | 0.023 | 0.026 | 0.029
#* m| 0.029 | 0.025 | 0.027 | 0025 | 0.034 | 0.030 [ 0.031 | 0.028 | 0.026 | 0.031
© & 7 HI|ET & 12| 0024 | 0.024 | 0.026 | 0.025 | 0.029 | 0.025 | 0.026 | 0.026 | 0.021 | 0.024
© = % mh & Ay 0032 | 0.027 | 0.028 [ 0.028 | 0.032 | 0.030 | 0.030 | 0.024 | 0.021 | 0.029
© 1 4% mm ©&  Fy 0028 | 0.029 | 0.032 | 0.029 | 0.031 | 0.030 | 0025 | 0.027 | 0.027 | 0.028
© 7 M mm & A7 0029 | 0.019 [ 0.026 | 0.026 | 0.026 | 0027 | 0027 | 0.029 | 0.025 | 0.025
t B Br B & @ FF| 0033 | 0.034 [ 0.039 | 0.034 | 0.038 | 0038 | 0.036 | 0.034 | 0.032 | 0.034
= m mm &  Ff| 0027 | 0.025 [ 0.028 | 0.026 | 0.029 | 0026 | 0.030 | 0.026 | 0.025 | 0.031
M & w|m_ 4&  pr| 0026 | 0.028 | 0.033 | 0.032 | 0.038 | 0030 | 0.027 | 0.030 | 0.031 0.033
2 B ¥ B 0.026 | 0.025 | 0.024 | 0.027 | 0.031 [ 0.028 | 0.028 | 0.027 0.027 | 0.029
("BZ) 1 OF. RIEZRTVT LBSDEINRMEETRT .,
2 BIGHIILEs. . BEEIZ4ANS10AFETRIEL TV S,
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F5—11% FEAFZURIEKFEODAERRE (ERI1EE)

6~98F | gooms |  6~0m SRR 6~§1HE%3§ "
TS wemRs (g |58 | mee mmeae | FOEE | ostpemet iz
iﬁ{ﬁ ﬁ ﬁ%ﬁg ﬁ{&ﬁﬁ Eﬁ&%mgug T:. E ﬁé‘f‘@ nlj
B & P BBl 030 | 039 | as5 | 142 | 006 | 274 | 772 | 206 | 580
B = WP B P PE® 016 | 019 | 366 | 058 | 004 | 145 | 3096 | 45 12.3
A WmF TR 047 | 020 | 340 | 076 | 001 | 135 | 397 | 47 | 138
M F  WmHE & 015 | 018 | 346 | 081 | 004 | 102 | 205 | 31 9.0
moE N wmmEINTER 019 | 021 | 362 | 060 | 006 | 166 | 459 | 50 | 138
N | 018 | 023 | 358 | 069 | 002 | 180 | 503 91 25.4
R = % 019 | 022 | 363 | 084 | 005 | 167 | 460 | 72 19.8
2 =| 017 | 019 | 347 | 066 | 005 | 137 | 395 | 28 8.1
£ B F B 0.19 0.23 355 0.80 0.04 163 46.0 71 20.1
£5-12% HIEFREVITLBERSKR (FERE1ERE)
Moo i BIlBE|FIFIEIN=Z] BF ™M B | | & ?Jaﬂ EE|K|BE|HE|F g
F| B E|F|&E|BE| H FIEIEBIN|®M B FIHF £ B
AEAEIE" )
AB (&) ] W m|m| || S| K[| H|ET| BT ||| H(ET| (|G
T[5A318 (A
[ ] 1
2 |7888 (k) O (@] @] 3
O O L JK @ 5
3|7B98 (%) DIO|OIOC|O|O 6
@ O 2
4 |78128 (B)
O O 2
598288 () |O @) 2
@] 1
6 [9B298 (K) @] 1
(@] 1
7 [9B308 (X o) [e) 2
@ 1
&l 3 ® |2 idilalaslal &4 1 1 14
il OF B & 3 1 11501 1 1 13
O: F#
@ IER

METRS : REX, X, hREK @& EEE, REAR, FBX
E};K  BAR, B L5 - kR
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$£5-13% BHBARCLLI—BBREARFLATHER CERIER)

B OE M R il i b B (1 &=MEQRZHMTSE
B oe B3R B | CEME BEETH b | —BME| CBMEFEAA LA 4 U B BT Y| BHE | RO
M BT fH = B BMM R R D E AU R ERZE FREOKFRREKFRA @A Z
(ppm) | (me/m®) | (opm) | (ppm) | (ppm) | (opm) | (ppm) |(16776L)| (n/sec) | (10kd/n'n)| (Kd/m'h)

1| 25 qifr | BTH A EfE| 5.17~5.25 | 185 | 0.005 | 0.025 | 0.036 | 0,007 | 0. 014 = = ESE 1.5 59 20
2| EERET| FH/N - 5.25~6.2 | 173 | 0.002 | 0.018 | 0.039 | 0.001| 0.005| 0.010 | 0.182 ENE 10 59 20
3| HEW | EALRE| 6.2~6.10 176 | 0.004 | 0.023 | 0.027 | 0.005 | 0.015| 0.020 | 0.186 NNE 1.3 73 20
4 | KFHET|FEBEty5-| 6.10~6.18 | 171 | 0.004 | 0.021 | 0.030 { 0.006 | 0.016 | 0.019 | 0. 181 SE 1.7 77 20
5 | AT | RT3 {ktv9-| 6.21~6.29 | 135 | 0.002 | 0.033 | 0.014 [ 0.006 | 0.014 | 0.020 | 0.182 SSW 0.9 |, 38 10
6|=ERFM|=HBLa@| 6.29~7.7 | 173 [ 0.002 | 0.011 [ 0.018 [ 0.002| 0.003 [ 0.010 | 0.179 SE 0.9 56 20
7 |4zuEET| BT{&3EE | 7.7~7.15 | 170 [ 0.003 | 0.023 | 0.031 | 0.003|0.010| 0.018 | 0.180 NNW 1:3 75 20
8 | /NEFrT| #Hdbtyd- | 7.15~7.23 | 172 | 0.004 | 0.027 | 0.016 | 0.005| 0.012 | 0.017 | 0.188 N 2.0 37 10
9 | F{EET Eqsi 7.26~8.3 | 169 |0.0002| 0.012 | 0.012 | 0.002 | 0.002| 0.010 | 0.172 SSE 2.0 35 20
10| FEWET| BT fRfREV9-| 8. 3~8. 11 170 | 0.002 | 0.015 | 0.014 [ 0.002 | 0.005| 0.014 | 0.173 SE 6.4 15 20
11| £ 587 THMH4 | 8.11~8.19 | 169 | 0.002 | 0.017 | 0.014 | 0.002 | 0.004 | 0.011 | 0.172 WNW 0.8 39 20
12| =& | MAF/MEEE| 8.19~8.27 | 177 | 0.003 | 0.029 | 0.019 | 0.005| 0.012 | 0.039 | 0.187 S 1.5 73 20
13| =@ | FE/MEB| 9.6~9.14 | 182 | 0.004 | 0.033 | 0.025 | 0.003 | 0.010| 0.017 | 0.182 E 1.3 59 20
14| s NET| (R EARAKH| 9. 14~9.22 | 175 | 0.002 | 0.017 | 0.018 | 0.002| 0.005 | 0.014 | 0.174 N 0.9 38 20
15| FEm | PEAREE| 9.22~9.30 | 176 | 0.002 | 0.027 | 0.024 [ 0.003 | 0.005 [ 0.014 [ 0.181 SE 0.9 55 20
16| JI|FA™ |[#Fa®248 9.30~10.8 | 180 | 0.002 | 0.027 | 0.029 | 0.001 | 0.005 | 0.014 O 180 WNW 0.3 23 10
17| $E&NET |46+ B0 |10, 12~10. 20| 178 | 0.001 | 0.014 | 0.020 | 0.001 | 0.003 | 0.009 | 0. 180 WNW 0.3 23 10
18| Z&RMBr| BT{&HA (10.20~10.28| 177 | 0.001 | 0.018 | 0.022 | 0.010| 0.012| 0.016 | 0.183 ESE 1.0 41 10
19| tA[RMT | S22 —] 10.28~11.5| 179 | 0.005 | 0.024 | 0.021 | 0.004 | 0. 009 = = NNW 1.0 36 —
20( \UEEAT[RIB =>4 —| 11.8~11.16| 178 | 0.001 | 0.019 | 0.022 | 0.005 | 0.006 | 0.013 | 0.181 ESE 1.0 28 =
21| =B H514E=R |11, 16~11.24| 187 | 0.003 | 0.024 | 0.033 | 0.004 | 0.015 | 0.020 | 0.183 NNW 1.3 29 =
22| REFE™| FHEFE | 11.24~12.2| 181 [ 0.002 | 0.022 | 0.018 | 0.013| 0.017| 0.023 | 0.184 W 1.1 28 =
23| #E LT | s ea] 12,2~12.10| 137 | 0.001 | 0.022 | 0.021 | 0.002| 0.005| 0.010 | 0.184 SW 0.8 30 —
24| FIEAT| T¥EMH#b |12.13~12.21| 181 [ 0.003 | 0.015 | 0.019 | 0.002 | 0. 005 | 0.008 | 0. 186 ENE i S —
26| = Hm | M2 1.11~1.19 | 188 | 0.003 | 0.015 | 0.010 | 0.015| 0.014 | 0.019 | 0. 184 N 0.8 27 10
26| BT | ELy-| 1.27~2.4 | 177 | 0.004 | 0.025 | 0.014 | 0.028 | 0.023 | 0.023 | 0.185 WNW 0.8 34 20
27| MAaT | Femrase| 2.8~2.16 | 179 | 0.003 | 0.028 | 0.026 | 0.008 | 0.011| 0.014 | 0.188 WNW 2.4 45 20
28| FhISET| ATIRIBAT | 2.16~2.24 | 178 | 0.003 | 0.015 | 0.033 | 0.003 | 0.006 | 0.014 | 0.183 NE 1.1 37 20
29| /NPT THARER 2.28~3.7 178 | 0.006 | 0.041 | 0.020 [ 0.016| 0.022| 0.028 | 0.187 N 1A 54 20
30| BLERET| A E 3.7~3.15 177 | 0.006 | 0.025 | 0.029 { 0.010| 0.019 | 0.013 | 0.185 WNW 2.4 57 20

M= X, EEOHEHIZLHRA

35



BE5-14F% EAVUTRYIRIZEI—BBEASFLAEER (FRIEE)
FIEMT A 2 FILEG-5(FRBIZITT /D X)

£+ 8| HN1 H12 FRYE

REEHEE 4 5 6 7 8 9 10 11 12 1 2 3
—BIEFR 0.002 | 0.003 | 0.002 | 0.002 | 0.001 | 0.002 | 0.002 | 0.001 | 0.002 | 0.001 | 0.002 | 0.003 | 0.002

(ppm) .

—BEER 0.001 | 0.002 | 0.002 | 0.002 | 0.003 | 0.002 | 0.002 | 0.003 | 0.003 | 0.003 | 0.001 | 0.002 | 0.002
A| (ppm)

“BLER 0.002 | 0.002 | 0.002 | 0.002 | 0.002 | 0.002 | 0.002 | 0.002 | 0.003 | 0.003 | 0.003 | 0.003 | 0.002
x| (ppm)

ZERBEY 0.003 | 0.004 | 0.004 | 0.005 | 0.006 | 0.004 | 0.004 | 0.005 | 0.006 | 0.006 | 0.004 | 0.005 | 0.005
#g| (ppm)

HEBEA TN 05045 | 0.051 | 0.035 | 0.020 | 0.015 | 0.031 | 0.032 | 0.022 | 0.022 | 0.029 | 0.039 | 0.039 | 0.031
& (2R (ppm)

PR RYE 0.004 | 0.014 | 0.008 | 0.010 | 0.017 | 0.019 | 0.013 | 0.007 | 0.008 | 0.005 | 0.006 | 0.015| 0.011

(mg./m®)

BERA (1644 WNW WNW S S NNW NNW NNW NNW NNW NNW NNW NNW NNW
FEHEE (m sec) | 12.0 9.0 8.0 11.0 | 12.0 8.0 7.0 7.0 6.0 7.0 7.0 9.0 8.6

mow BEEO | oqmngo, | BFOEA 004 pon ERAL 4 ppgimat 0.1 pon EEAL
. BRER | gy (opm) | THRUEAE (RANEES) T mmyn vans
—BLHRR 0.012 0. 003 0B | 100% oFsRl | 100%
_ —EitEE
K o# “REZE (NO,) s .

1BEES | BEYEO | BFYEA 0.06 ppn FRI| 1 BEREO NO+NO, (%)
BEiE FM08%ME | BMBUERR (98%EFM=| BHE
H B (ppm) (ppm) £5) (ppm)

ZXRBIY 0.03 0. 007 08 | 100% 0. 080 53.3

m oz BFEO1FEREES 0.06 pom | RO 1 FHHE{EA 0.12 pom RO 1 HEEDESE
5 g FHRA - B8 & M Lk B & FBRE (ppm)
x fk #F 738 4825 {8 18 2 0.124 100%
AHLU b = ) - °
1B | BEIRD2% | s 0.20 ng/n’ £HEX| BFLMA 0.10 ne/n EH

& m % 0.400 0. 040 SRS 99. 9% 0B 100%
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(d: pg/m)

W AEMS | &£ F 14 E| ¥ | gt =3 = b &

" 6| T 8FE sﬁﬁwﬂﬂﬁﬂﬁ B’ EE | 1EE | 8EE | 9EE 10FEE|N1FE
& B T 0.40/0.42/0.39(0.31]0.27|0.26 J% # T7|0.032|0.0310.028|0.028(0.028 | 0.014
# 3 7]0.41(0.41]0.35/0.36(0.31|0.31|| # |= & T|0.036|0.034|0.0300.032f0.023 0.014
# 4% T 0.42(0.47|0.50|0.46|0.42]0.38 = F 7| 0.052|0.061|0.059|0.055|0.048 | 0.022
POETIITT | 0.48|0.46(0.49(0.46 | 0.43|0.38 F§E = HT|0.057|0.059|0.058|0.051|0.040 | 0.016

% 88 B 7]0.30[0.32(0.30{0.30(0.28]0.24 #= B T/0.0009[0.0008|0.0012(0. 0006|0. 0005|0. 0003
% 8 Ti0.32[0.27|0.26(0.24|0.28|0.23 # F} T|0.0010/0. 0009(0.0009|0. 0008|0. 0006| 0. 0004
$ ¥ T 0.34/0.34/0.27(0.36|0.30]0.29| H» [#8 £ 7 [0.0010(0.0012}0.0013(0.0010{0. 0008|0. 0007
= B TH 0.54|0.52[0.56(0.48[0.50|0.44| K | hog)IT |0.0012{0.0015|0.0014]0.0013|0.0010|0. 0007
B % H710.40[0.44)|0.44|0.43|0.40(0.35)| = |FE H 0.0015(0: 0013[0. 0011{0. 0009|0. 0007|0. 0007
& B Tl0.016[0.018/0.017/|0.014/0.011]0.006| * |7 F& 77(0.0011/0.0012/0.0011/0.0011/0.0010{0.0005
# 1 Th0.017/0.018/0.015(0.017/0.014/0.008| L |= #& 77 |0.0009|0. 0008(0.0008|0.0008|0. 0006 0. 0004

<7 |#8 4 (0. 036/0. 043|0. 046|0. 040|0. 035|0. 017 = ® T1/0.0013|0. 0015{0. 0014{0. 0012|0.0011(0. 0006

> | dnE il |0. 020(0. 024|0. 024(0. 023(0. 0210. 011 @ % H7(0.0013]0.0015/0.0015|0. 0012|0. 0010|0. 0005

#H |8 % 0.014[0.017/0.016[0. 017(0. 014|0. 006 # B T1h|0.0038/0.0037|0.0040|0. 0030|0. 0025|0. 0017

¥ |7 %8 0.029|0.014/0.013|0. 0130. 013]0. 006 £ #F Ti7|0.0035/0. 0037|0. 0030|0. 0035|0. 0030|0. 0019
£ & T7H0.014[0. 014{0. 012[0.017{0.013 o.ooa" — |# #£ 74 0.0028|0.0033|0. 0040|0. 0037|0. 0035(0. 0022
B B 0. 023[0.029(0. 031]0. 027(0. 026 0.014| w | saE)iTE |0.0037/0. 0042|0. 0040|0. 0043|0. 0040(0. 0024
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|k Tﬁ0.0?O0.0740.0640.0650.0690.04-4" # 7 T 31.9]29.4(28.8] 283|245/ 19.2
= B ff‘T0.0?Z0.0690.0620.0670.0570.038“ & |#8 &£ 7| 28.9| 281|283 288|269 19.3
& ® T0.104/0. 131|0. 109(0. 103|0. 102 0.059“ ¥ | A | 33.9 | 33.4 | 32.5 | 31.5 | 28.2 | 17.4
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2148 £ 7H|0.032|0. 035(0. 035(0. 031]0.027]0.055| A |& B TI| 33.1 | 34.5 | 34.6 | 30.4 [ 29.0 | 18.0
AT |0.046/0. 050|0. 048(0. 046(0. 0400. 063 8 % Hr| 36.6 | 35.5 | 36.0 | 33.3 | 30.0 | 17.9
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